
Before using your new product, please read these instructions to prevent any damage.

M4 × 35 mm

(4)

QUICK SETUP GUIDE 

PACKAGE CONTENTS

Tools Needed:

M5 × 20 mm

(4)

M5 × 35 mm

(8)

M6 × 20 mm

(4)

M6 × 35 mm

(4)

M8 × 20 mm

(4)

M8 × 36 mm

(4)

Spacer (8) M4/M5 washer
(4)

M6/M8 
washer (4)

Adapter nut 
(4)

 Nut (2)

5 × 5 Allen 
wrench

Magnetic level 
(removable)

Lag bolt wrench

Lag 

bolt (3)

Concrete 
anchor (3)

Lag bolt 
washer (3)

Wall plateTV plate

Pencil Phillips 
screwdriver

Measuring 
tape

3/16 in. (5 mm) wood drill bit (for wood stud wall)

OR

3/8 in. (10 mm) masonry drill bit (for concrete wall)

Adjustable wrench

Drill

FEATURES
• Supports a wide range of TVs from 19–50" and up to                 

55 lbs (25 kg)
• VESA pattern support from 75 × 75 mm to 400 × 400 mm with 

all common sizes in between
• Micro-adjustments to perfectly level and position a      

mounted TV
• Sturdy steel construction for years of dependable use
• Full assortment of mounting hardware included for a wide 

range of TVs

CAUTIONS
This product contains small items that could be a choking hazard if swallowed. Keep 

these items away from your children.

• Make sure that these instructions are read and completely understood before 

attempting installation. If you are unsure of any part of this installation, please 

contact a professional installer for assistance. 

• The wall or mounting surface must be capable of supporting the combined weight of 

the mount and the display. If it cannot, the structure must be reinforced.

• Safety gear and proper tools must be used. A minimum of two people are required for 

this installation. Failure to use safety gear can result in property damage, serious 

injury, or death. 

This product was designed to be installed on wood stud walls and solid concrete walls. 

Before installing, make sure that the wall will support the combined load of equipment 

and hardware. Never exceed the maximum load capacity 55 lbs (25 kg), or the result 

may be product failure or personal injury.

NOTE: This product is intended for indoor use only. Use of this product outdoors could 

lead to product failure or personal injury. 

DX-HTMF1620

Full Motion Mount for TVs 19"-50"

DETERMINING WHAT TYPE BACK YOUR TV HAS
1 Carefully place your TV screen face-down on a cushioned, 

clean surface to protect the screen.
2 If a stand is installed, remove it. See the documentation that 

came with your TV for instructions.
3 Lay the TV plate against the back of your TV.
4 Align the screw holes in the TV plate with the mounting 

screw holes on your TV.
5 Identify which type of back your TV has:
 • Flat back: The TV plate lays flush against the back of your 

  TV and does not block any jacks. You do not need spacers.

 • Obstructed back: The TV plate blocks one or more of the 
  jacks on the back of your TV. You need spacers (H).

 • Irregularly-shaped back: There is a gap between the TV
  plate and some part of the back of your TV. You need 
  spacers (H).

6 Remove the wall mount.

SELECT SCREWS, WASHERS, AND SPACERS
1 Select the hardware for your TV (screws, washers, and spacers). 

If your TV came with mounting hardware, the screws are usually 
in the holes on the back of the TV.

 If you don’t know the length of the mounting screws you need, 
hand-thread different screws to find the correct length.

 Select one of the following types of screws:

 Use M4/M5 washers (I) with A, B, or C screws. Use M6/M8 
washers (J) with D, E, F, or G screws. For an irregular or 
obstructed TV back, also use the spacers (H).

Caution: Make sure that the screws 
(and spacers, if used) are the correct 
length. If the screw or screw/spacer 
combination is too long, it may damage 
the TV. If the screw or screw/spacer 
combination is too short, the TV may fall 
from the mount and damage the TV or 
injure someone.
If you encounter resistance when 
testing screws, stop immediately and 
try another combination. If none of the 
screws or screw/spacer combinations 
work, contact customer service.

2 Remove the screws from the holes in the back of your TV.
3 For a flat back TV, use “STEP 3 - Option 1: Attaching the TV plate 

to TVs with a flat back.”
 -OR-
 For an irregular or obstructed back, use “STEP 3 - Option 2: 

Attaching the TV plate to TVs with irregular or obstructed 
backs.”

Option 1: Attaching the TV plate to TVs with a flat back
1 Align the TV plate with the screw holes on the back of the TV. 

Make sure that the plate is level.
2 Place washers over the holes in the TV plate. Insert screws 

through the washers and TV plate.
 Note: The washer (I or J) size depends on the size of the screws used.  

Use the I washer with screw B. Use the J washer with screw D or 
screw F. 

3 Tighten the screws until they are snug against the TV plate.  
Do not over tighten.

Stud finder 
(for wood stud wall)

For a TV with a 
flat back:
M5 × 20 mm (B)
M6 × 20 mm (D)
M8 × 20 mm (F) 

For a TV with an 
irregular/obstructed back:
M4 × 35 mm (A)
M5 × 35 mm (C)
M6 × 35 mm (E)
M8 × 36 mm (G)

INSTALLING THE TV PLATE
Measure the vertical and horizontal distances between the mounting holes on the back of your TV. 
This mount supports VESA patterns from (W × H) 75 × 75 mm to 400 × 400 mm with all common sizes in between.

6 × 6 Allen 
wrench

Adapter 
washer (4)

Quick Setup 
Guide

Adapters (4)

Cable clip 

400 m
m

300 m
m

300 mm

400 mm

75 m
m

75 mm

Hammer 
(for concrete wall) 

No adapters With adapters Installing your adapters
Depending on the 
mounting-hole pattern on 
your TV, you may need to 
install the TV plate adapters.
• Place the adapter washer 

over the adapter bolt, 
then screw on the adapter 
nut and tighten with a lag 
bolt wrench.

Option 2: Attaching the TV plate to TVs with irregular or 
obstructed backs
1 Place spacers (H) over the holes on the back of the TV.
2 Align the TV plate with the screw holes on the back of the TV. 

Make sure that the plate is level.
3 Place washers over the holes in the TV plate. Insert screws 

through the washers, TV plate, and spacers.
 Note: The washer (I or J) size depends on the size of the screws used.  

Use the I washer with screw A or screw C. Use the J washer with screw 
E or screw G.

4 Tighten the screws until they are snug against the TV plate. Do 
not over tighten.

Lag bolt wrench

Adapter nut

Adapter

Flat back TV
Irregular or 

obstructed 

back TV

TV plate
TV plate

With screw D or F

With screw B

With screw E or G

With screw A or C

OR

Screw fits 
correctly

Screw is 
too short

Screw is 
too long

Final flat size: 26.91 x 8 in (683.47 × 203.2 mm)
Final folded size: 4.5 x 8 in (113.9 × 203.2 mm)

Adapter 
washer

DX-HTMF1620_19-0529_QSG_V2_EN.ai   1   10/8/2019   10:48:01 AMDX-HTMF1620_19-0529_QSG_V2_EN.ai   1   10/8/2019   10:48:01 AM



V2 ENGLISH 19-0529

DETERMINE THE WALL-MOUNT LOCATION
The center of your TV will be offset .8 in. (2 cm) lower than the 
center of the wall plate on the wall-mount. Before you drill holes 
in the wall:
1 Measure the distance from the bottom of your TV to the center 

point halfway between the top and bottom mounting holes 
on the back of your TV. This is measurement a.

2 Measure the distance from the floor to where you want the 
bottom of the TV to be placed on the wall. Keep in mind that 
the bottom of the TV should be placed above any furniture 
(such as entertainment centers or TV stands). The TV should 
also be above items placed on top of the furniture (like a 
Blu-ray player or cable box). This measurement is b.

3 Add a + b. The total measurement is the height where you 
want the center of the wall plate to be on the wall.

4 Use a pencil to mark this spot on the wall.
Notes:
• For more detailed information on determining where to drill your 

holes, visit our online height-finder at:
http://mf1.bestbuy.selectionassistant.com/index.php/heightfinder

• Your TV should be high enough so your eyes are level with the middle 
of the screen. This is normally 40 to 60 in. (101.6 x 152.4 cm) from the 
ground.

INSTALLING THE WALL PLATE
Wood installation
1 Locate the center of a stud with a stud finder.
2 Place the magnetic level on the top of the wall plate, then align 

the center of the wall plate at the height (a+b) you determined 
in the previous step. Make sure that the wall plate is on the 
stud and is level.

 Note:  It is very important that the wall plate is level. This determines if 
the TV will be level when extended from the wall. 

3 Mark the three holes through the wall plate with your pencil. 
Set the wall plate aside. 

4 Drill three pilot holes on your pencil marks to a depth of         
2.8 in. (70 mm) using a 3/16 in. (5 mm) drill bit.

5 Align the wall plate with the pilot holes, insert the lag bolts 
(B1) through the lag bolt washers (B3), then through the holes 
in the wall plate. Make sure that the wall plate is level.

6 Tighten the lag bolts only until they are firm against the wall 
plate. Remove the magnetic level.

Concrete installation
Caution: To prevent property damage or personal injury, never drill into the 
mortar between blocks. Mount the wall plate directly onto the concrete 
surface.
1 Place the magnetic level on the top of the wall plate, then align the 

center of the wall plate at the height (a+b) you determined in the 
previous step. Make sure that the wall plate is level.

 Note:  It is very important that the wall plate is level. This determines if the 
TV will be level when extended from the wall. 

2 Mark the three holes through the wall plate with your pencil. Set the 
wall plate aside. 

3 Drill three pilot holes on your pencil marks to a depth of                    
2.8 in. (70 mm) using a 3/8 in. (10 mm) diameter masonry drill bit.

4 Insert the concrete wall anchors (B2) into the pilot holes and use a 
hammer to make sure that the anchors are flush with the concrete 
surface.

5 Align the wall plate with the anchors, insert the lag bolts (B1) 
through the lag bolt washers (B3), then through the holes in the 
wall plate. Make sure that the wall plate is level then tighten the lag 
bolts only until they are firm against the wall plate. Remove the 
magnetic level.

* Minimum solid concrete thickness: 8 in. (203mm).

* Minimum concrete block size: 8 × 8 × 16 in. (203 × 203 × 406 mm).

MOUNTING THE TV
1 With another person, lift the TV and align it with the slots 

on the wall plate.  
2 Thread two nuts (M6) onto the TV plate, then tighten the 

nuts to secure the TV to the wall plate with the 6 × 6 Allen 
wrench.

 NOTE: Tighten the upper nut (M6) first to make sure that the TV 
does not slide off during installation. 

MANAGING YOUR CABLES
Thread cables for attached devices along the mounting arm, 
then snap the cable clip onto the mounting arm.  

A

B

a

b

ADJUSTING THE TV MOUNT
Leveling the TV
• If the TV screen in not level, loosen the upper and lower nuts 

(M6) with the 6 × 6 Allen wrench and adjust the level, then 
tighten the nuts. 

 NOTE: If the TV screen does not tilt down, use a wrench to adjust the 
left and right two nuts on the TV plate.

Adjusting the tension  
To adjust the arm tension (to make the arm easier or harder to 
move), loosen or tighten the tension screw with the 5 × 5 Allen 
wrench.

Stud finder

Wood stud

Magnetic level 

Drill

Concrete wall

Pencil Back of TV

TV plate

Wall plate

Rotating and tilting your TV 
1  To rotate the TV left or right, hold the sides of the TV, then
 push one side while pulling the other side.
2  To tilt of the TV up or down, hold the top and bottom of the TV, 

then tilt the TV forward or backward.

Magnetic level 

3/16 in. (5 mm)

 2.8 in. (70 mm)

3/8 in. (10 mm)

 2.8 in. (70 mm)

THREE-MONTH LIMITED WARRANTY
Visit www.dynexproducts.com for details.

CONTACT DYNEX:
For customer service, call 800-305-2204
www.dynexproducts.com

DYNEX is a trademark of Best Buy and its affiliated companies. Distributed by 
Best Buy Purchasing, LLC, 7601 Penn Ave South, Richfield, MN 55423 U.S.A.
©2019 Best Buy. All rights reserved. 

Tension screw

5 × 5 
Allen wrench 

Cable
Cable clip

±180°

-2°~12°

±3°

6 × 6 
Allen wrench

6 × 6 
Allen wrench

DX-HTMF1620_19-0529_QSG_V2_EN.ai   2   10/8/2019   10:48:02 AMDX-HTMF1620_19-0529_QSG_V2_EN.ai   2   10/8/2019   10:48:02 AM



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


